sin (A + B) = sinA. cosB + cosA sinB.......... (i)

sin (A - B) =sinA. cosB - cosA sinB .......... (ii)
cos (A + B) = cosA. cosB + sinAsinB .......... (iii)
cos (A - B) = cosA. cosB - sinA sinB .......... (iv)

sin (A + B) = sinA. cosB + cosA sinB

(i) + (i) RCO A2,

sin (A - B) = sinA. cosB - cosA sinB

Sin (A+B) + sin (A-B) = 2sinA cosB



sin (A + B) = sinA. cosB + cosA sinB.......... (i)

(i) - (ii) XCO 1%,
sin (A - B) = sinA. cosB - cosA sinB .......... (ii)
sin (A+B) - sin (A-B) = 2cosA sinB
(iii) + (iv) XCO AT,
cos (A + B) = cosA. cosB -sinAsinB .......... (iii)
cos (A - B) = cosA. cosB + sinAsinB .......... (iv)

cos(A + B) + cos (A — B) = 2cosA cosB

(iii) - (iv) RCO AR, cos (A + B) = cosA. cosB - sinA sinB .......... (iii)

cos (A - B) = cosA. cosB + sinA sinB .......... (iv)

cos(A + B) - cos (A —B) =- 2sinA sinB
— Cos(A - B)-cos (A+B)=2sinAsinB



g9 A+B=C g32  A-B=D

2A=C+D 2B=C-D
_C+D :B—C__D

sin (A+B) + sin (A-B) = 2sinA cosB

. . . C4D C—D
= sinC+sinD=2sin ~— cos —

sin (A+B) - sin (A-B) = 2cosA sinB

. ) C+D . C-D
= sin C - st=2cosTsmT

cos(A + B) + cos (A — B) = 2cosA cosB

C+D C-D
— cos C+cos D =2cos S~ C0s —

cos(A - B) - cos (A + B) = 2sinA sinB

. C+D . C-D
= cos D - cos C = 2sin —— sin—

. C+D . D-C
= ¢c0Ss C-cosD=2sin . sin




Y ——

L sin (A + B) + sin (A = B) = 2 sinA cosB 5. | sin (A +B)-sin \.‘\._—:-li) =2eosAsmB
2. | cos (A +B)+cos (A=B)=2cosA cosB 0. | cos (A = B) = cos (A + B) = 2 sinA sinB |
3, | : : - 51 : %, 4 ¢ P SR

sinC + sinD = 2 sin C: D COs c ~ D : sinC = sinD = 2 cn.\’(':;t'L sin -(‘-; 2
4. ’ = “~ = :
cosC + cosD = -cosg,,i—b- cos = ~ 2 ¥ cosC =cos D =2 sin'—(-*;*-p‘ sin D’; s




iii) Sin 55° + cos 55°

Formula

= Sin (90° — 35°) + cos 55° cos C + cos D = 2c0s—= cos C_ZD

= c0s35° + cos55°

= co0s55° + cos 35°

35° 4+ 55° 55° — 35°
= 2c0Ss > cos >
90° 20°
> CcoS >

= 2c0s45°cos 10°

= 2cosS

1
= 2—cos 10°
V2

=12 cos10°



SinA + sinB = cosA + cosB

. A+B -B A+B A—B
= 2 sin . CcosS . = 2 CcoS —cosT

. A+B A—B A+B A—B
= 2 sin Ccos = 2C0S —COS——
2 2 2 2
sin # .
= —4 __ =
2
A+B
= tan — = 1

= A+B=§Proved

Formula

N . . C+D C-D
|)smC+st=25|nTcosT

. C+D C-D
i) cosC+cos D = 2COST cos ——




L.H.S.

= Cot (A + 15°) —tan (A — 15°)

cos(A+15°)  sin(A — 15°)
sin (A + 15°) Cos (A —5°)

Formula
(i) cos (A + B) = cosA. cosB - sinA sinB

cos (A + 15°) cos (A — 15°) — sin (A + 15°) sin (A — 15°)

sin (A +15°) cos (A — 15°)

cos (A +15°+ A — 15°)
sin (A + 15°) cos (A — 15°)

cos 2A

% 2 sin (A +15°) cos (A — 15°)




2 cos 2A
2 sin (A +15°) cos (A — 15°)

2 cos 2A

sin (A+15°+ A+ 15°) + sin(A+15°— A+ 15°)

2 cos 2A

Formula
(i) Sin (A+B) + sin (A-B) = 2sinA cosB

sin (A + 15°+ A —15°) + sin(A + 15° — A 4+ 15°)

2 cos 2A
sin 2A + sin 30°

2 cos 2A

) 1
sin 2A + 5

2 cos 2A

2sinA+1
2

_ 4 cos 2A
~ 2sinA +

n proved




s 31 31 51
2 COS—=COS— + COS— + COS—

7 7 7 7
5m 3m  Sm_3m
= = 3—7T 7 7 7 7 Formula
= 2 Cc0S—-Ccos—- + 2 cos cos
’ ’ ’ 2 C+D C—D
cos C+ cos D = 2cos S~ C0s —
81 21
—9 /[ 31T 49 A VA
= 2 COS 7 COS 7 COS > COS 5
= 2 Cos 7 COS 7 CoS 7 COS 7
=2 T 3n + 2 31T T
= 2 cos— cos— cos(m 7 ) cos -
= 2 cos . COS . CoS . COS -

=0=R.H.S.



L.H.S.
45° + 0 45° — 0

tan tan
2 2 Formula
45° + 6 45° -6 (i) cos(A + B) + cos (A—B) =2cosA cosB
= tan tan . . :
2 2 (ii) cos(A - B) - cos (A + B) = 2sinA sinB

. 45°+60 . 45°—-0

_ Sin——— sin—
45°+60 45°—0
COS ———C0S —

9gi 45°+60 . 45°—0
_2sin—H— sin—

45° + 0 45° — 0
§——5—C0S——%—

2co

2 2 7 T3

45°+0 45 -6\, (45°+0 45 -6
COS 2 2 coS 2 7

(45° +6  45°— 0) (45° +6  45°—-0 )
oS — — cos




45° + 0 — 45°+9) (
cos

45°+ 6 —45°+ 0

2

)

COS

cos
(

45° +0+45°—0)

(%) -eos (%)
" (L) eos (Z)

cos 0 — cos45°
cos 45° + cos6

cos@—i

V2

1 + cos6

V2

V2cosf —1
_ V2

B V2cos6 + 1
V2

B V2cosf — 1

- V2cos6 + 1

Proved

+ cos

(

45°+ 60 — 45°+ 0

2

)



